Modello VETRO 24

GLASS Model 24
Modele VERRE 24

Moadell GLAS 24
Modelo VIDRIO 24

\VETRO 24

Accessori per porte in vetro con forature e pinza alta 24mm
Accessories for glass doors with piercings and high grip 24mm
Accessoires pour portes en verre avec trous et pince de 24mm de hauteur
Zubehorteile fur Turen aus Glas mit Bohrungen und hoher Zange 24mm

Accesorios para puertas de vidrio con perforaciones y pinza alta 24 mm

195




\VETRO 24

Vetro 24

Glass 24
\’ Verre 24

ane 24
Vidrio 24

Art.1714

Art. 1721
Art.1724/V/A

Art.1724/V/AL
Art.1724/B/A Art.1724/VIAT
Art.1724/B/AL
Art.1724/B/AT

Art.1725/A
Art.1725/AL
Art.1725/AT

Art.1724/V/A
Art.1724/V/AL
J 0 Art.1724/V/AT

[0 <

Art.1722/8
Art.1723/10 Art.1722/10
Art.1723/8
Art. 1721

Art.1724/B/A
Art.1724/B/AL
Art.1724/B/AT

I

Art.1722/8
Art.1722/10

Art.1725/A
Art.1725/AL
Art.1725/AT

BINARIO STANDARD BINARI A RICHIESTA (SPECIFICARE ALL’'ORDINE)
STANDARD TRACK OPTIONAL TRACKS (SPECIFY WHEN ORDERING)
S I— - ] - ] E_] C
Art.1280 Art.1700 Art.1700
Art.1080 Art.1359 Art.1559 At 1720 Art1710




Descrizioni misure

Size description
Description des dimensions
MaBbeschreibung
Descripcion medidas

scorrevoli

ADE IN ITALY.

56
g
60 52.5 i
A I
-
L. © Te} L_?_ C L .
+
99} oy o) ()
0o o ™ — ™
(oo] Art.1358 00 Art.1715 o
© N~
N ~ N
™ N ™ < ™
o © C al b 3
/1
810 1.5 | | | 810 8/10
19.5 ’d 15.5
o © o
b ~—
32 24 28
Min.50 140
70 70
012 62
:l |: <
5 ég oi 85
1—L -~
170
& %
Min.120 @ (G d N
. Art.110
~25_ ) lf3wda 10mm Guida inferiore OPTIONAL
inferiore :
er controtelai
1O standard | fn118 Eower guide for
— | Lowerguide counterframes ﬂﬂ A A72210/AL
ol <« standard /@\ " Art.1725/170/A
o < Art.1486/8/10 E 3 Art.1722/8/AL Art.1725/170/AL
Hﬁr ﬂﬂl Art.1725/170/AT
. Al
el & |
\.
ART.1724/1723/8/A ART.1724/1723/10/A A A724/VIA
ART.1724/1723/8/AL ART.1724/1723/10/AL O Art1724/V/AL
ART.1724/1723/8/AT ART.1724/1723/10/AT Art1724/V/AT
0) ™0
; Art.1724/B/A ~—7 Art.1724/B/A
© o) Araria ArtA724/B/AL © o) 0 Art.1724/B/AL
D B QR = Art.1724/B/AT D G Art.1724/B/AT
Art.1721 g
© ) © 0
g = ONS ORSORS0)} g
@ Art.1723/8 M6x20 @ Art.1723/10
ART.1724/1725/8/A ART.1724/1725/10/A
ART.1724/1723/8/AL ART.1724/1723/10/AL
ART.1724/1723/8/AT ART.1724/1723/10/AT
), L)
0 ®) Art.1714 B TIN) Art.1714
Art.1724/B/A
@ ) OO 0, 0 (SIS ) Art.1724/B/AL
Art.1721 Art.1721 Art.1724/B/AT
© ), © )
S OB ORS ORS O] = ORS ORS ORS O)
0 Art.1723/8 M6x20 © Art.1723/10 M6x20 Art.172210/A

Art.1725/170/A
Art.1725/170/AL
Art.1725/170/AT

!

Art.1722/8/A
Art.1722/8/AL

Art.1722/8/AT

Ingie

Art.118

Art.1722/10/AL
Art.1722/10/AT
Art.1725/170/A

Art.1725/170/AL
Art.1725/170/AT

Art.110

!

197

\VETRO 24



\VETRO 24

Kit per ante vetro
sp. 8mm Kg. Max.80

\_—

Kit for glass door thickness 8mm kg Max.80

Kits pour vantail verre épaisseur 8mm et max 80 kg

Set fur Glasfligeln mit einer Starke von 8mm Kg. Max.80
Kit para puertas de vidrio espesor 8 mm kg max.80

scorrevoli

ADE IN ITALY.

wl
?4
<}
-
N

Z
z
R
D

80Kg

w

& b
O

g

z

z
Q
o

80Kg

\D

Z
-\
©

>

80Kg

\B3

ART.81/1724/8A D) At.1723/8
ART.81/1724/8AL s AtiToa
ART.81/1724/8AT 0 ) :
Art.1724/V/A Art.1724/B/A 7 ) @ e e )
Art.1724/V/AL Art.1724/B/AL J ~a) Art.1721
ArA724/V/AT 2 Art.1724/B/AT 0 J
[ - SIS OIS OIS O]
‘ M6x20
Art.1486/8/10 8mm 10mm
ART.1626/1724/8A ) At 172078
ART.1626/1724,/8AL 2 AT
ART.1626/1724/8AT ® )] :
Art.1724/V/A Art.1724/B/A 7 g (e e &)
Art.1724/V/AL Art.1724/B/AL 2 5 ) Art.1721
ArA724/V/AT Art.1724/B/AT ) )
- Art1627/10  Art.1626/T/24
— ' OB 0ROl
M6x20
Art.1486/8/10 8mm 10mm
ART.81/76/1724/8A
ppiiia //76 //1724 //BAL ™) At.1723/8 Art.81/T/24
Art1714
ART.81/76/1724/8AT B %)
Art.1724/V/A Art.1724/B/A M 0 D
Art.1724/V/AL Art.1724/B/AL 9 7] Atsa Art.1721
AR.1724NV/AT Art.1724/B/AT @ J
_— : 7 S OM ORR OSSO
. M6x20
Art.1676/443/Y/24
Art.1674 Art.1486/8/10 8mm 10mm
ART.26,/76/1724/8A
ART. 26// 76 // 1 724// 8AL o @) A 17ees 72 Art 162671724
: g Art714
ART.26/76/1724/8AT B )
Ar.1724/V/A Art.1724/B/A . ) Sl& el
Art.1724/V/AL Art.1724/B/AL J _ @) Ati627/10 Art.1721
Art.1724/V/AT =) ArL1724/BIAT @ J 00 O
= = 7
—C 2 M6x20
Art.1676/443/Y/24 @
Art.1674 Art.1486/8/10 8mm 10mm
ART.1673/1724/8A ) Art17238
ART.1673/1724/8AL ) AT
ART.1673/1724/8AT B ™0 ’
ArtA724/VIA Art.1724/B/A - ) D
Art.1724/V/AL Art.1724/B/AL 9 _ 5) Art.1721
Art.1724/V/AT =1 Art.1724/B/A Vﬂ 050 <00
— ¢ B =
— C ) = M6x20
Art.1486/8/10 8mm 10mm
ART.1672/1724/8A
ART.1672/1724/8AL i, @) Ani7eae Art.1714
ART.1672/1724/8AT 7 ~) _ 4_,’;(0 :
Art.1724/V/A Art.1724/B/A B ) Art.1674 4 OO
Art.1724/V/AL Art.1724/B/AL 2 5 Art.1721
ArA724/V/AT Art.1724/B/AT !
= : . P VW
0 M6x20
= Art.1486/8/10 8mm 10mm
ART.1676/1724/8A ) At 172978
ART.1676/1724/8AL 2 AT
ART.1676/1724/8AT B ) .
ArA724/V/IA Art.1724/B/A 7 ) Art'm , oot
Art.1724/V/AL Art.1724/B/AL ) ) = Art.1721
ArA724/V/AT Art.1724/B/AT —= (@ J _ =
_— B Zr ° P VW
( . M6x20
Art.1676/243/Y/24
Art.1486/8/10 10mm

O

8



Kit per ante vetro
sp. 10mm Kg. Max.80

80Kg

\% B

)

WNSTE

80Kg

Kit for glass door thickness 10mm kg Max.80 n
Kits pour vantail verre épaisseur 10mm et max 80 kg scorreuol

Set fur Glasflugeln mit einer Starke von 10mm Kg. Max.80
Kit para puertas de vidrio espesor 10 mm kg max.80

\&}

80Kg

\2% 8

Z

z
&
o

80Kg

0 \p

o
QX
>

80Kg

ART.81/1724/10A (n Art.1723/10
ART.81/1724/10AL : AT
ART.81/1724/10AT B ®) '
Ar.1724/V/A Art.1724/B/A . @ Slelala)
Art.1724/V/AL Art.1724/B/AL J ~a) Art1721
ARAT24NVIAT e Art.1724/B/AT ﬂV 90 90
= B
— © M6x20
Art.1486/8/10 8mm 10mm
ART.1626/1724/10A
ART.1626/1724,/10AL .
ART.1626,/1724,/10AT 714
Art.1724/V/A Art.1724/B/A & (e &)
Art.1724/V/AL Art.1724/B/AL Art.1721
ATLIT24NIAT ) At 1724/BIAT AMAG27HO  Art1626/T/24
_—— - 0 S OX OB OMS O]
. M6x20
Art.1486/8/10 8mm 10mm
ART.81/76/1724/10A
ART.81/76/1754)10AL D) At.1723/10 Art.81/T/24 >
ART.81/76/1724/10AT @ ) @ :
Ar1724/V/A Art.1724/B/A . @ Slelala)
Art.1724/V/AL Art.1724/B/AL ) 7 Atsd Art.1721
Art1724/VIAT == Art.1724/B/AT ¢ OO VO
= 7
— J M6x20

Art. 1674 = Art.1486/8/10 8mm 10mm

0

ART.26/76/1724,/10A AA72310
ART.26/76/1724,/10AL @ .
ART.26/76/1724/10AT B ) :
Art.1724/V/A Art.1724/B/A 7 ] & & &)
Art.1724/V/AL Art.1724/B/AL ) v Ar.1627/10 Art.1721
AMLAT24N/AT 1 Art.1724/BJAT 0
_— - O PP
- M6x20
Art.1674 Art.1486/8/10 8mm 10mm
ART.1673/1724,/10A = Art1723/10 %ﬁ
ART.1673/1724,/10AL 0] At
ART.1673/1724,/10AT 0 ® _ et '
Art.1724/V/A Art.1724/B/A At1674 =" (L3 (Sl& e &)
Art.1724/V/AL Art.1724/B/AL _ . = Art1721
AA724NVAT = At A724BIAT === (@ _ ‘ OO <90
— ) M6x20
A Art.1486/8/10 8mm 10mm
ART.1672/1724/10A &) Ar1723/10
ART.1672/1724/10AL AT
ART.1672/1724/10AT D ) '
AA724IV/A Art1724/B/A Z fo @ A1674 == AL Sl Ie )
ArL1724/V/AL Art.1724/B/AL ) ~—7 = Art.1721
AMLA724/VIAT et Art.1724/BJAT 2 (@ 2 = 0 A
— == o =
7 3
= 2 & M6x20
Art.1486/8/10 8mm 10mm
ART.1676/1724,/10A
ART.1676/1724,/10AL 7
ART.1676/1724,/10AT '
Art.1724/V/A Art.1724/B/A (& e &)
Art.1724/V/AL Art.1724/B/AL Art1721
ARAT2ANIAT e A AT24IBIAT = <0 <00
— M6x20
Art.1486/8/10 8mm 10mm

199

\VETRO 24



scorrevoli

ADE IN ITALY




